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Simplification Of The 3D Hg Jet
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which is 0.01 meter. No gravity in the model.

pipe simulation
P
* u=U+sqgrt(2k/3),
where k = %( (u’)"2+(v')A2+(w’)"2 )
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Input at velocity inlet from
pipe-flow study without
weld, and without bend.
Mesh: 14M, = 1 week per 1
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. velocity flow thru (25 ms).
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Results of a,,, att=0.2 ps (one time step)

z=0cm

-0.01

-0.01

£

-0.005 0 0.005
Y
z=10cm

£

-0.005 0
Y
z=30cm

£

-0.005

0
Y

0.005

0.01

0.01

0.01

0.015

0.015

0.015

0.015

0.01

0.005

-8.01 5

0.015

0.01

0.005

-8.01 5

0.015

0.0

0.005

-8.01 5

-0.01

-0.01

-0.01

z=1cm

£

-0.005 0 0.005
Y
z=15¢cm

£

-0.005 0 0.005
Y
Z=45cm

£

-0.005

0
Y

0.005

0.01

0.01

0.01

0.015

0.015

0.015

0.015

0.01

0.005

-8.01 5

0.015

0.01

0.005

-8.015

£

CODODOOODO
—NWhrUOTO DO

0

z=5cm

£

-0.01 -0.005 0 0.005 0.01
Y
z=20cm

£

-0.01 -0.005 0.005 0.01

Y

a,, = volume fraction
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Results of u,att =0.2 ps (
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Results of a,, att=14.4 ms
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Results of u,at t = 14.4 ms
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Results of a,, att=26.4 ms
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Results of u,at t = 26.4 ms
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Results of a,, att=44.4 ms

z=0cm z=1cm z=5cm

0.015

0.015 0.015

0.01 0.0 0.01
= >¢
0.005 0.005 0.005
| |
) e . o015 -0, 0005 0.1 . U T—) 0005 0.1
! J N J J v
_ z=15cm
z=10cm z=20cm
0.015 0.015 0.015
0.01 0.01 00
= =
0.005 0.005 0.005
3015 -o01 -0.005 0 0.005 0.01 0.015 Bots 0.005 0.01 015 001 0.005 0.01 0015
Y Y
z=30cm _
z2=45cm
Ty
0.015 0015 1
0.9
0.8
0.01 07
0.01 06
> 0.5
0.4
0.005 0.005 03
0.2
0.1
0
J015 001 -0.005 0 0.005 0.01 0.015 Ro15  -o0f -0.005 0.005 0.01




Results of u,att =44.4 ms
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Results of a,, att=83.4 ms
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Results of u,att =83.4 ms
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